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Predicting Whether Melond1 Cucumis melo L.L0 Are Ready to Eat by Non-destructive Methods

Taketo SANO, Takashi IsHIl and Kyouko KASHIMA

Summary

O In ripe Andesu gogou’ melons, the flesh firmness is 0.62 kg, and the acoustic impulse transmission is 44.5
m/s. If the acoustic impulse transmission is represented by y, and the number of days until the melon is
ready to eat by x, the relationship between the two can be represented by y, = -3.65x + 44.5. Thus, we can
predict the number of days until the melon is ready to eat if we measure the acoustic impulse transmission.
In ripe’ Ahrusu Miyabi Natsukei’ melons, the flesh firmness is 0.52 kg, the acoustic impulse transmission is
40.0 m/s, and the elasticity index is 49 x 10¢6. From the definitions in the previous paragraph, the relationship
between x and y, can be represented by y, = 9251 x + 23.10 If the elasticity index is represented by vy, its
relationship with y, can be represented by y, = 1307 x + 26.4[] Thus, we can predict the number of days
until the melon is ready to eat from these relationships.
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